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QUESTION»DEIV’:RTHENT. circumference and their apexes at the centre, then

the sum of their areas would be equal to lh(} sum of
QUEsTIONS SoLVED. . their bases, that is, the circumference multiplied by
(For a Newfoundland subscriber. | the radius and divided by two.

circum. X rad.

1. Prove clearly that z°=1. That is, the area of the circle == 9
~

But the circum. -= 3°1416 X diam.
. 31416 xXdxr
e Z0=1, JC.ourea == R
2. Prove the rule for finding the area of a trinngle from its — 3 1416 xdxd
sides, . 4
Let BC be the base of the triangle ABC, and AD | =854 % d?
the perpendicular on BC. | 4. Divide a* by 4.
Let AB=c, AC=), BC=a, AD=d. DC=e, and |
half the sum of the sides of the triangle be |

e g
AB+BC+CA = "+bjf_" = & 5. Reduce to itslowest terms ‘:x " ‘
D) T ! B

b4 2
“Then 'f.f..b.—»."‘:(.'j'b""‘c—2":"+b+"—c=s—c. Precisely similar to this =~ ¥' =¥’
2 2 2 ’ . 2t y? e
Similarly “F2=0_,_j ypnqdH+e—a_, . | As the quantities are monomials, it can be seen at
' | once that they can be divided by subtracting their
Proof. c*=a*+b—2ac. (Euc. II. 13). | powers.

e :q,”f+bz+c:' | 6. From what source is “ Useful Knowledge " papers com-
" 2a | piled?

PRI | From all or any books, papers, or magazines con-

oo B = \/b'—-(iw ) (Euc. I. 47). | taining useful information — particularly from the

, 4a® o | book of *‘ Nature,”—which every one should atud‘y

-.% Area ABC=%7—% 402 b2 (a? « 6% —(2)e, | directly as well as from other books. Paul Bert's

" =TV da® " | “First Year of Scientific Knowledge ” is one of the

at _4a2bt— (a® + bt — c2)2 .

Area = 1 7% e iug ‘ : | 7. Solve Exercises I and II, Question Department Epuvca-
- TIONAL REVIEW for Octeber, 1891,

== &f M-ﬁf"':_‘i’)g | Thesolution given of the ‘‘James Harper” exercises

16 | i8 correct as far as the last paragraph’ on page 108,

_ '(zab)z__(,',s:],é;b'.s)‘z Here a slight error has crept in. qnste&d of as in

=V 16 o | the text, read thus: The jeweller loses property worth

300 % 2925 ) . ,
Here the numerator being the diffcrence of the — 4)5,05 and the premiums he paid on two-thirds

squares of two quantities, it is equal to the product | of that amount at 3} per cent for three years, together
of their sum and difference. | with annual interest on the premiums at 6 per cent,
. Area= /(200 +a* + 52— %) Qub—qt_—ge 55y | that is he loses |
e = 6 ——— 300X 2925 4 21255 X 300 X 2025
' 4-905 300 x 4905

L]

a =

| most popular compendiums.

a® +2ab+ b2 —¢c2) (c2_42 + 9ah 73 , . .
= V( _\ﬁ‘&_hf._l_),(j(‘?,_ff?N_,_ff",b —b* less the insurance paid to him.
e - ‘ The second exercise is an inane puzzle which we -
_ vg(a.*_b)z_,,-s; [0 —(a—b)2] have failed to solve, and over which we would not
16 — - advise our readers to waste any time.

‘** Six and two

- ,\/(“Wg:é) (1+a——b)c__(,_+ 6) | . B Explainwhich is correct: *“Six and two are eight,” or
2 "R B B 9 | N

s eight.”

= A/8 (8—c¢) (8—0) (s—a) Al good usage requires the verb to be plural.

That is, the area—the square root of the continueq | 9 Béing on the bank of a river, I wist [how how
, the ed | : : er, I wish to know how |
product of half the sum of the sides, and the differ. would lll('ti:sllrc its width, having only & bouk with me.
ences between half the sum of the sides and cachside | =~ Assuming that the corners of the leaves of your
separately. | book are right Aangles, fold a leaf so that the upper

3. Prove the rule for finding the area of a circle. | qu}f wil] co,ltz(zx(!e “-“th the other edge forming

0% X T854—aren. | right angle. This Flves you an angle of 45°,
1

) _ | 8n object across the river and another )
Let the circle be considered to be made up of an | bank of the river, such that the lines ?:zlr)ngt ‘:;;

infinite number of triangles, with their bages in the | objects to the place where you are standing will form




